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PR “d” (FTereifeles Aifen) & g & T g forfd adram
WRITTEN TEST FOR SELECTION TO THE POST OF

TECHNICIAN ‘B’ (Electronic Mechanic)

IfE 25 TH & Uh Hleleh F 100 FAW Aol [ERAT & a6 TTeieh A HaTelt URT &/1f 100 coulomb

of charge passes through a conductor in 25 s, the current in the conductor is ..........

@@ 1A (b) 4A )  10A d 2.5A

I T der fir aifikar 4000 wHTTT § A g ----—----- & fau 4 PR gare & 3ngfd o
HdhdT &/If the capacity of a battery is 4000 mAh, it can supply 4 Ampere current for

(@) 120 min (b) 240 min

(¢) 60 min (d) 30 min

T Figel W0 1 Uieh ¢ Uleh Hed 300 V &l SHBT ARUCATH Hod --n-mnmmmmm- /The peak to
peak value of a sine wave is 300 V. Its rms value is .......

(@) 70.72V (b) 1414V

) 14.14V (d)  106.08 V

Teh BRAS WA 7V P A@ell # | KQAUH & W AMcH SRS F Tl T Aead & S

U AgUgDH foRar STaT ®/A forward potential of 7 V is applied across a network consisting a schottky
diode with 1 KQ resistor in series. The current through the diode is .......
(@ 10mA (b) 73 mA (c) 6.8 mA (d)y O0mA

11100 T ZRIHATT JeATeh &/ The decimal equivalent of 11100 is ............
@ 23 b) 31 © 27 d 28

169 1 E@Plav_cﬁ & Torw 3maeae fAg=or {@r 6 AT - /Number of control lines required for 16

to 1 multiplexer is ..........

(@ 3 (b)y 4 () 8 (@ 2

T 6 e @5eeX 0,1,2,...... n deh FITat & forw SuANT fova SITam &1 n T HeT &eommemeememv / A 6 bit
counter is used to count from 0,1,2......n. The value ofn is ......

(@ 16 (b) 15 ) 32 (d) 63

1000 Hz T Hli{ﬁf el Teh ATl 9T & T, FHAT AT —oommeeeeeeee &/For a sine wave with a frequency
of 1000 Hz, the time period is .......

(@) 1000 ms (b) 100 ms (c) 10 ms (d) 1 ms
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10.

11.

12.

13.

14.

W &6 g Hquﬁ & FUW THUAGITH & Ufddgeldl &/ The disadvantage of SMPS over

conventional linear power supply is .....

(a) T &taAaT/Low efficiency

(b) HAT® gcd/Bulky components

(c) <ufpeITer ﬁﬁg’?—l’ q?-zl?ﬁ'q ITAdROT &1 SATAd AAT &/ Generates strong electromagnetic

interference field
(d) TAFT T/ Low cost

Ueh aiferd ST 37T 311?{% fREURAT a1 §/The oscillator that gives good frequency stability is ......

(a) @<t aifert MHartley Oscillator (b)  HIItugd ifer /Colpitts Oscillator
(c) Temwea qifer /Crystal oscillator (d) IR Y % f31%e giferst /RC phase shift oscillator

aTRaT RArere=g &1 E@E %/ The unit of capacitive reactance is .......

(a) 31M/ohm (b) RG/farad (c)  3MTPUAT/ ampere (d) dTec/volt

CIESZATIC] ag‘:i?fﬁ‘ar/ The bistable multivibrator

(a) & FERX 31TEAT & /has two stable states
(b) Udh TEAT 37TEAT §/ has one stable state
(c) Faarferd & is free running

(d) 3'51'417-5 A EﬁTé' el /none of the above

U Told 3[B o Wi Uise 3R arell uige & o, ------------ &9 &/Between the peak point and
the valley point of tunnel diode, there is ...... region

(a) l:i?[ﬁ/ Saturation

(b) FOTcHSD A/ Negative resistance

(c) @e-3iT%/Cut-off

(d) SCI?i?F A ﬂﬁé el /None of the above

T dlad gfaRivs fSmet e, arere, 3 3R @ W1 3 &, 3T Uik HeT ¥/ The

resistance value of a carbon resistor having red, violet, orange and gold colour band is

@ 2.7kQ=+5% b)  27kQ+5%
© 270kQ +10% d  27Q +5%
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15.

16.

17.

18.

19.

20.

21

greR H 10,000,000 aTefl AR @Y ~----------- db  yepe AT SATAT §/A gain 10,000,000 times in

power is expressed as............ db

@ 60 (b) 80 © 70 @ 120

TfAeR wielat & 3aqe 3R 3m5eye & fig & Ferr RAEATA ----------- ©/The phase shift

between input and output of an emitter follower is ........
(@ 0° (b) 180° ()  60° d)  90°

Tdh 3TYATeleh ?_{ﬁﬁ ST ST feem3t # =Teler BT Gehar %/The semiconductor device that can conduct

in both direction

(a) IR /TRIAC (b)  THHIBR/SCR
) drSeI/BIT (d) SQ'{i?F A PIS AST/none of the above

Th TN # 10 Q8T & 40 Q HR G X & 3aRT D Il 3T/ The turns ratio required to

match 10 Q source to 40 Q2 load in a transformer

(@ 1:8 (b)y 1:2 (c) 1:4 (d 1:16

UAF 10 Q T &H GiAee Hafick &7 A TN ¥, FHIed UTARIISHAT /Ten resistors each of 10 Q are

connected in parallel, the equivalent resistance is

(@ 10Q (b) 100 Q (c) 1Q (d 1kQ

Th H@ell IRV URUA 3 R=1kQ, L=10 pH, C=1 pf UF T dleedT =10 V &, 3T1g 3 aRuy #
UaTE &/In an series RLC circuit, R=1kQ, L=10 pH, C=1 pf and source voltage =10 V, the current in the

circuit at resonance is

(@ 10mA (b) 100 mA (c) 20 mA (d 1mA

Th -TuAdr -----m-ee- g & faw riPsfeud &/An Op-Amp is designed to amplify

(a) AT THT dieedr/AC voltage only

(b) AT T dleedr/DC voltage only

(¢ TH 3R ST aieear giai/Both AC and DC voltage
(d) AT Ued [Badel/Pulse signal only
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22.

23.

24.

25.

26.

ar,

28.

T 3Ll 3NdY-uuady @ $eiqc 1T 1113 AR &/ The input resistance of an ideal Op-Amp is

(@ R[eF/Zero (b) 3¥dd/ Infinity
(c) 1kQ (d) 100 kQ

) 5[@7*” 31%’&1@[ aRuYa V=100V, V;=100V 31X V=35V , ¥Id dieed/In a certain series resonant
circuit Ve=100V, V;=100V and Vx=35V. The source voltage is

(@ 100V (b) 135V (c) 65V (d 35V

IfE Teh AT &1 Fordes URT 10 mA 3R I URT 100 pA , a ST AeT 1 &/ the collector

current of a transistor is 10 mA and the base current is 100 pA, then what is its beta?

(@ 10 (b) 100/101 (c) 100 (d 1

T Whcd 16 mH 3R 25 mH dTel &Y Gzl A= AT & | Soadst GHIT 301w Rebed &/ Two

coils having self inductances of 16 mH and 25 mH are mutually coupled. The maximum possible mutual
inductance is

(@) 40mH (b) 20mH (c) 10 mH (d 5mH

UE g TOT HR A AT gade @ aor afr 30 3R 40 ¥, sHA @I a7 T/A two

stage RC coupled amplifier has stage gains of 30 and 40. The overall gain is ?
(@ 70 (b)y 120 (c) 1200 (d 40

'\e@’ el A AT SIS @1 GI3mSe/PIV of a non conducting diode in a bridge rectifier is

(@) THY gclqc & ey Hed T Qa1 &/ Twice the peak value of a.c. input

(b) TH gclqc & R Hed &I 3TAT ©/Half the peak value of a.c. input

(c) TH $<qc & R Hed &l iﬁﬂFIT ©/Four times the peak value of a.c. input
(d THr $1Yc I IEIECEY e %/Peak value of a.c. input

TS yadd & A9 Bis dF/The negative feedback in an amplifier

(a) WITRT &I derar %/Increases the gain

b) & GIST$ BT TeTAT &/Decreases the band width

(c) dfer fERar &r GURAT &/Improves the gain stability
(d) 351'{1?5 # Efﬂg eI/ None of the above
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29,

30.

31.

32.

33.

Faia &1 aiar ifferRear ------------- ©/Capacitive reactance of a capacitor is
(@)

(b)
(©)

21fC
cr
21
2
rc

1
O

QIicdhT 31A1s & T/ Schottky diode has

(@) dreest H fAeT FIe/Low cut in voltage

(b) TISH A frar 29/ Slow turn on time

() HIRA U NTa FTaRrT/ Heavily doped p-n junction
(d) m?i'rﬁ H 'cﬁ'é el /None of the above

(a) dleedr fAa=® 2:{%/ Voltage controlled device

OB CIFRGLIES] '{—Iﬁﬁ/ Current controlled device ’

© 3dfa 3=a $eqc gfcrarer gﬁﬁ/ Very high input impedance device
(d) 3‘0’{1?5 H Ehﬁ% %1 /None of the above

RFeT 3RE FHAIT: -------m-m-- & forw 3uAIfia &/ Varactor diode is commonly used for

(@) dlecdl fAafdadr/ Voltage regulation
(b) SelFcifls Tgfi9T/ Electronic tuning

(c) SRS HIGe/Diode detection

(d) SCRI\'-F A Eﬁé EI/None of the above

3T #H, 8[@?‘” IRTHT gRTY &1 ufdarer &/At resonance, the impedance of a series RLC circuit

1S

@ R
(b) Xo
() Xc

(d) SCI?’;T-F H aﬁé Flﬁ/None of the above
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34.

35.

36.

37.

38.

51@?-” HRUSHT gRUT oy Dol URTY TR —oomeemmumnaa &/ The total circuit impedance of a series
RLC circuit is

@ VRZ+ (X, —X()?
1

(b), ;s
(0 X, +Xc

(d) 3'0'{1?5 J aﬁé &T&1/None of the above

10 © RIS T Teh ferT g3 AidT R Y ST T oIl P I delle) S WeIah T e &

LTSGR L RIS ry )3 R— B/A given copper wire of 10 Q resistance is stretched to double its original
length. Its new resistance is

(@ 10Q by 20Q (c) 30 Q (d 40Q

drEr arR &1 UieRIY a9 gedr § Fa@----------- /Resistance of a copper wire increases when ...........

(@) ?;Rﬂé gcdr %/Length decreases
(b) T "gcdr %/ Temperature decreases
(c) <UTH =T &/Diameter decreases

(d) 3'51'21?5 @ Eﬁé Tel/None of the above

Ueh Seldgld &l dTol &/The charge of an electron is

(@) 1.602*107° FHIH/coulomb

(b) 6.24*107'8 A/ coulomb

() 6.24*1071° FHAHA/coulomb

(d) Wﬂ?ﬁ A EF]% Tei/None of the above

S 5 AWATE 3 A T, STATH 2 V 3R 3iales Uik 0.1 Qard wh AeT &7 et

[CLCEE: %/ The terminal potential difference of a cell of emf 2 V and internal resistance 0.1 Q when
supplying a current of 5 A will be

(@ 25V
b 15V
(¢ 10V

(d) Fﬂi?ﬁ H ?}ﬁé Tel/None of the above
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39.

40.

41.

42.

43.

44.

W& &l OO 3FTRPRepdT/ Inductive reactance of an inductor is

(@) 2mfL
®

© 3
) =

555 TEcfde aﬁiﬁﬁ?[ &hr 311?[1% UK El ©/The formula for the frequency of a 555 astable multivibrator

1.44
@  Garzraic
(b) (Ra+2Rp)C
1.44

(C) (RA + ZRB)C

(d) FU'{i?F P2} aﬂé Tei/None of the above

8V T TH BRAT WCFRRIS SIS 3RS I HIUYH T 1 1 KQ & Uik S121s & @1y e 3

&1 3TA1s | §lAdTel UdTE &/A forward potential of 8V is applied to a Ge diode. A resistance of 1 KQ is in
series with the diode. The current through the diode is .......

@ 10mA (b) 73 mA
© 7.7mA d  OmA

T A & dlerS 3AHT Fars F 10 cm e & 3R 37T IRATOT 60 cm &1 3T H e U

&Y/ The width of a rectangle is 10 cm less than its length, and its perimeter is 60 cm. Find the width of the

rectangle.
@ 10cm (b) 15 cm
(¢ 20cm (d) 5cm

Tch Ilelch ol ™A 792/7cc %, Mereh 1 B @?ﬁ/ If the volume of a sphere is 792/7cc. The radius
of the sphere will be

(@ 9cm (b) 3cm
(c) 6cm (d  9/7cm

dT emarR v gEar fSgdr Jewe 15 & &I I[OTTh el ?C/The product of three consecutive

odd numbers whose sum is 15

@ 120 () 150
() 125 (d 105
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45.

46.

47.

48.

49.

50.

51.

T WY T5F A & PMAR foheliaiey T & U AR & Seatded BioT 30° AR 60°F| ad § &
W ?'lﬁlﬁ &hr ?ﬁﬂé gl (Feuar & EICEIY al A’ T & dig ©)/If the angles of elevation of

a balloon from two consecutive kilometre-stones along a straight road are 30° and 60° respectively, then the
height of the balloon above the ground will be (assume the balloon is in the between the two mile stones)

@@ V3/2km () 473 km
() 2V3km @  3V3km

T 3R & Al & ua AT FT aRATT §/Perimeter of rectangle of sides a & b is given by

(@) 2(atb) (b)  4(atb)
(c) axb (d a+b

Teh HABIOT FABIOT HT & G4l 15cm 3R 20 cm &1 SHHT ST UTH Y/ The two sides in a right

angled triangle are 15 cm and 20 cm each. Find its hypotenuse?

(@ 35cm (b) 15cm (c) 20 cm (dy 25cm

g x =3 & y=4, X’ +3xy+y’ &l AT utg P/ x=3 & y =4, Find the value ofx2+3xy+y2

@ 71 () 61 © 5l @ 81

frg RBfSca ais & guerea B35 4 &t BfSe grRT TWdd §/In which digital code is decimal
digit expressed by 4 binary digits.

(@) ST @Is/BCD code (b)  deRT PIS/Binary code

(c) UTHHINTSITS s /ASCII code d) & PIS/Gray code

T IIRAT B e giferT # Fsdad dleedl & BF ------------- 3RROT T&oT ARAT vF RAoe

Sead R fRAT ST §/1In an RC phase shift oscillator, the phase of the feedback vbltage is shifted by
......... with a three stage RC phase shift network

(@) 0 degree (b) 60 degree
() 90 degree (d) 180 degree

0.5 HP Tl 4 #A1eX gRT 8 €¢ & fohdar safded urax Jfac 3user far Sar &/How many units

of electric power will be consumed by 4 motors of 0.5 HP each in 8 hours?

@) 11.768 JfAT /units (b) 11768 JfAC/units
©  1.1768 AT/ units )  117.68 AT/ units
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52.

93.

54.

55.

56.

57.

58.

Wﬁﬁ?@awﬂéﬁﬁméiﬁz}?mm?hﬁauﬁﬂwwm ----------- BN Afy

TAgsr 3V, 3mA 3R S @i 15V 19T/ The value of current limiting resistor for a stack of 4 LEDs
connected in series will be if the LEDs are of 3V, 3mA and DC source is 15V.

(@ 10Q (b) 100 Q
(0 1kQ d  10kQ

IS N &1 Bla-ar de AAahe AT F veaAdra ¥/ Which of the sets of logic gates are

designated as universal gates?

(@ NOR, NAND (b) XOR, NOR, NAND
(¢)  OR,NOT, AND (d) NOR, NAND, XNOR

fer gu aATger denelte 3t Pl Rewrger 33 dIgTS 1T &/The modulation technique that takes the lowest

bandwidth among the given

(@ AM (b) FM (c) DSB-SC (d  SSB-SC

wzwmmﬁémmm%mmwm%‘m 2 input logic

gate which has always a high output when its inputs are same is

(@) NOR (b) NAND (¢  XOR (d) XNOR
TIHRET Th PR &l ---nmmmmmmee ©/HRCis atype of .......

(@) WJH/Fuse ()  FEaa/switch

(c) PUTHeT/ capacitor d R/ relay
WWWH#WW#W -------------- ﬁqﬂﬂﬁ?r?)—rmﬁ!\?fm%/lnazener

regulator, the change in load current produces, change in .......

(@) SR aTecdr/zener voltage
(b) SR YUdT& /zener current
© TTHN/a&b

(d) 3‘1’%?5 #H EFEL T&1/none of the above

ﬁvgm%ﬁv,mam@gmmmma{aawmm@aaﬁﬁmora

given voltage, four heating coils will produce minimum heat when connected

(@) T FATAall in parallel

(b) T H@AT H/all in series

(© & FHATR gITeT 5[@'6” #H/with two parallel pairs in series

(d) TP I AR 3N 317 ar 5}_’@3” # /one pair in parallel with the other two in serjes
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59.

60.

61.

62.

63.

64.

50 TeT BT Tebel U sl &l Ul 5 mH &1 TS ToT HEAT GIAT AT ST & il Dell T Il -----—

------ BI9T1/ The inductance of a single layer coil of 50 turns is 5 mH. If the no. of turns is doubled, inductance
of coil will become .......

(@ 2.5mH (b) 5mH
(¢ 10mH (d) 20 mH

900 MHz o If3aY JeT fAfehTor e & forw gést UaTid Vet & oidTs o T eial arfel/What should be

the length of Hertz transmitting Antenna for radiating radio waves of 900 MHz

(@ 16.7cm
(b) 1.67 cpm
() 835cm

(d) SCI?i?F: A Eﬁ’fé el /None of the above

T FHTA AT d5urd RFeteX &1 311G ARy 20 KHz & 3R et ds fear 2 KHz §

3HDI U B ITH 3ﬂ_cﬂ>ﬁ ©/The resonant frequency of a parallel resonant bandpass filter is 20 KHz and its
bandwith is 2 KHz. Its upper cutoff frequency is ........

(@ 19KHz (b) 22 KHz
(¢ 18 KHz (d) 21 KHz
SIB3RTS TRATET BT SUAWPT SeAch ------------- PROT WTAT &/ The use of TRF receivers is limited

because of their

(a) ?ﬂﬂ?&qﬂT/Poor fidelity
(b) geel THUASR/Poor SNR

(c) @H ﬂ'ﬂ'lﬁ-?lT/Poor sensitivity

(d) S'Q@?F FHI/All of the above

A & Faafoa Rafr 36 & ------------ ERT fAsues fham SATaT €/ Automatic switching

(a) ﬁﬁ/Relay (b) &Feld /clutch
) Tg-anfcas T /bimetallic-strip d)  SMS/diode

AATpiof YT 6T FATS/ The height of Marconi Antenna is

(@ A (b)y A2
(c) M3 d M4
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65.

66.

67.

68.

69.

70.

U i dlocdl TARNBRT ---mmomomeee fgia & 3muR @ /A servo voltage stabiliser is based
on the principle of ’
(a) UTATHFAT deedr &7 ah ¥C/buck-boost the primary voltage
(b) Teh AT dloear H Be S/ feedback a sample voltage
© R gr1 Rifes 3T3CYC a1 rEafdar/ switching different outputs by relays
(d) 3UGF F P TE/none of the above
e mgeat F voadr A Rradt s=afyy &/Which of the following ICs contain AND gates?
(@ 7400 (b) 7402
(c) 7404 (d 7408
Hrsaﬁaaagﬁm%masﬁmwmzﬁrqﬁwmﬁ ------------ W AR
©/The distance range of communication in microwave band, without using satellites, depends
largelyon ........
(@)  3Mqfl/Frequency
(b) UHIRT wa IPafRT Veear Hiy 341S /Height of transmitting and receiving antenna
(c) UERIT H 3UGaaT HAIGSld Pl JbR/ Type of modulation used in transmission
(d) ESCPi’zF P} Eﬁé =TT /None of the above
IR doqer 3 rfeeomnfeas RgTor —oomeee 30T & RIT sfEg &/ Astigmatism
control on CRO panel is used for control.
(@) Ihd/ Focus (b) WS brightness
) fm UIU_[.GI &1 RATA/beam position (d) E{fﬁ?-r 3-]11'1"@/trace rotation
5 319 3R 10 3MeT TR 30 V St 3RS aRT FARG &1 10 3907 YR IR ST T TfeRIe 21/ The
resistance of 5 ohm and 10 ohm are connected in series with a 30 V DC supply. The current
across 10 ohm resistance is:
(@ 4A (b) 2A ) 10A d 8A
&t I #F seareia e oo ERT fAIT §/In TV receiver the electron beam is
deflected by
(a) ﬁg?-r ﬂ'éﬁﬁ'q ﬁW/Electromagnetic deflection
(b) ﬁl’gﬁ' s fa8YqoT/Electrostatic deflection
c) & & Eﬁ’lé Tch/Any of the two
(d) aﬁé Tel/None
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72.

73.

74.

75.

530 | fhec o O S erT RBfSersas Rvda o g% AfE Reaa & §v # suiaRka
fopaT ST &/In a DVD player, digitised signals are converted into composite video signals by

means of

(a) ADC () DAC

(c) HHI®/Detector (d) RS/ Mixer
BR g --------m-mmm- # 3yAfAa §/Radar principle is used in

(@) TIATHIGC & E’l{ﬂ'ﬁ 3 /detection of aircraft
(b) é?—ﬁq'ﬁ?ﬂ'/telephony

(c) BAdCId HISHIEHIT/electron microscope
(d) SCPiFF GdHY/all of the above

0-50 ATl & T 3refieT & forw qot wher OfEar & + 1% Hr aRegar | afa arT10 A &
AT Hed A stfafyaraar /An ammeter of 0-50 A range has an accuracy of + 1% of full scale reading.

The current measured is 10 A. The uncertainty in measured value is

(@ +2% (b) +2.5%

(c) *+4% (d) + 5%

ol grE ARAT ey & &e 1w g ----------- ¥F g0 &A1 SITaT &/ The cut off frequency of
a low pass RC filter is given by the formula

@ 1/(2nRC) (b)  1/2nRC)*)

(¢ 1/(47°RC) @  1/(RC)"

78XX 3[@'6“ G ER:] G [rots | T | P 1 1 — H 3T §/78XX series of voltage regulator ICs are

availablein ..........

(@) 2 T s dher2 pin IC package
(b) 3 e 3mS dohar 13 pin IC package
) 4f= 31T§?ﬁ' Yepat /4 pin IC package
(d) 8 Tt ST Uk /8 pin IC package
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